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17.          1

cm٢  

5cm
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 6    

     (

     (4   

         (

 5/1

»  « 20

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

 moc.rayermoN.www - وبسایت آموزشی نمره یار



.................................. :

........................... : 

...........................: 
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.

: 

» «

       

  

  

 1402-1401

: 18: 4

:

:

: 13/3/1402

: 8

: 90







 

[٥] 

 

 

:      :     

      



1
       ×.((((1

2
          

(12-(
3

6
(49( 

1

3
.      

(a(b(c(b
2

4

         24       

()   

25241

14122

1183

√1064

1

5

.   )−15+ 20) × +14) ÷ −2)= +5) × −7) =−35

)33 + 24 − 15 = 27+ 16− 1 = 42
5/1

6 

 n ...  7531 

(1–n2(1+n2(1–n(1-n35/0

7: 132 6  : 6 1

8
( .−4) + +10) = +6

     (−4) + +6) = +2 → +2 ÷ 2 = +1
1

9.    ( ) .......AB BD CD+ − =  + +  = 5/0
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.      ( 6x− 8 = 34

6 = 34+ 8 = 42 →  = 7
(4X− 7 = X

5/1

11

(2a + 4b) + 36a− 3b) = 2 + 8 + 18 − 9 = 20 − 

( + 2 = 3− 2 × −5) = 3 + 10 = 13  = 3 , = −5
5/1

12

 ( = 
3
−1   = 

−4
3
.  

 (.         = 
7
−4 

     ( .
5

−4
 + 

−6
+4  = 

−1




25/1

13

.    
4
−3+ 


5 = −5


 4 + x = −5 → x =

−9 y = −3+ 5 = 2
5/0

14

      (
1

16
=

1

4
, √81 = 9

 (√38.           67

25/1

15

.        

25 × 62 × 35 = 65 × 62 = 67 
1

2

3

× 0/54 = 0/5)7  
1

2

7

1

16

.    (.v = s × h = 5 × 5 × 3/14) × 2 = 157/5

        (
1

17

.          
2

6
=1

1

10
=2

1

10
=5

1

10
=6

1

18

(     

     (4      

           (21=1+4+6+3+2+5

21÷ 6 = 3/5
5/1
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